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@@@5 @ 10 . & HTdieh
H: ﬁ_'ﬂa;
2.72+10° = 102 =

6x10° = 2.63x10° =

9.78 x 10° = 3.75+10° =

1.77+10° = 10° =

561 +10* = 4x10° =

421 -+10% = 8.74 x 10° =

8 x 10 = —3x10* =

10° = 10° =

10 = 2x10 =

1x10° = 5x10° =
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@@@ *@ 10 . & HIelic
. ferep:

272+ 10%* = 0.0272

6 x 10° = 600000
9.78 x 10° = 9780
1.77 = 10° = 0.00177
5.61 + 10* = 0.000561
421+ 10* = 0.0421

8 x 10 = 80

10° = 1000000

10 = 100

1x10°=1

10 = 100

2.63 x 10° = 2630
3.75+10° = 0.00375
10° = 1000000

4 x 10° = 400000
8.74 x 10" = 8.74

—3 x 10* = —30000
10° = 100000
2%x10=20

5% 10° = 500000
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